| dE/dx estimator 1 |

Ratio

0.25

0.2

0.15

0.1

Entries
Mean
Std Dev

25064
2.499
1.61

Entries
Mean
Std Dev

25008

2.501
1.609

.......................................................................

=

0.95

<+ @ p

- { g0

b

1 2 3 4 5 6 7 8 9 10

dE/dx, harm?2

Ratio

| dE/dx est

imator 2 |

0.25

0.2

0.15

0.1

0.05

Entries
Mean
Std Dev

25064
2.385
1.587

Entries
Mean
Std Dev

1.585

25008

2.386

...........

.......................................................

FRVA)

0.95

+e |

0 0

1 2 3 4 5 6 7 8 9 10

dE/dx, trunc40

=—=— DQM_TT__mkFit-DQM_original-lowpt

mkFit-DQM_updated-lowpt

0.2}

0.1

BLiSE B

0.05

—— DQM_TT__

CTTITeS

¢ | Mean
: | std Dev

ZIU0
5.271
5.476

¢ | Entries
¢ | Mean
1. Std Dev

25098
5.285
5.483

CTTaTeS
Mean
: |_Std Dev

"""""""""""""""""""""" 7| Entries
¢ | Mean
..| Std Dev

........................................

QA

T

F = T T T

=
1-1-|-¥-|-
——
—_————
-
>+
-

OF

10 20 30 40 50 60 70 80
dE/dx number of measurements

Ratio

i

L.

1

L
L

k-

0.95

0 10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


